AN

WibroSzczel wj.

wibroizolatory — uszczelnienia - oleje - smary

70

- 0 -

TYPE Load
Min. kg. MaxKg. Losd Load CoDE
TSR - 55 M8 10 25 25 12,5 157001
TSR-110 M8 25 50 18,3 11 157002
TSR - 220 M8 50 75 16 12 157003
TSR - 450 M8 75 150 16,4 11,2 157004
TSR - 850 M8 150 250 15,7 12,1 157005
TSR - 1200 M8 250 420 12,6 111 157006
TSR - 55 M10 10 25 25 12/5 157008
TSR - 110 M10 25 50 18,3 il 157009
TSR - 220 M10 50 75 16 12 157010
TSR - 450 M10 Vi 150 16,4 11,2 157011
TSR - 850 M10 150 250 15,7 12,1 157012
TSR - 1200 M10 250 420 12,6 11 157013
TSR - 55 M12 10 25 25 12,5 157014
TSR - 110 M12 25 50 18,3 11 157015
TSR - 220 M12 50 75 16 12 157016
TSR - 450 M12 75 150 16,4 11,2 157017
TSR - 850 M12 150 250 15,7 12,1 157018
TSR - 1200 M12 250 420 12,6 11,1 157019
TSR-55 M8 + Kit Niv. M8x55 10 25 25 12,5 157101
TSR-110 M8+ Kit Niv. M8X55 25 50 183 11 157102
TSR-220 M8+ Kit Niv. M8x55 50 75 16 12 157103
TSR-450 M8+ Kit Niv. M8x55 75 150 16,4 11,2 157104
TSR-850 M8+ Kit Niv. M8x55 150 250 15,7 12,1 157105
TSR-1200 M8+ Kit Niv. M8x55 250 420 12,6 11,1 157106
TSR-55 M10+ Kit Niv. M10x90 10 25 25 12,5 157107
TSR-110 M10+ Kit Niv. M10x90 25 50 18,3 11 157108
TSR-220 M10+ Kit Niv. M10x90 50 75 16 12 157109
TSR-450 M10+ Kit Niv. M10x90 75 150 16,4 11,2 157110
TSR-850 M10+ Kit Niv. M10x80 150 250 15,7 12,1 157111
TSR-1200 M10+ Kit Niv. M10x90 250 420 12,6 11,1 157112
TSR-55 M12+ Kit Niv. M12x100 10 25 2 12,5 157113
TSR-110 M12+ Kit Niv. M12x100 25 50 18,3 1" 157114
TSR-220 M12+ Kit Niv. M12x100 50 15 16 12 157115
TSR-450 M12+ Kit Niv. M12x100 75 150 16,4 11,2 157116
TSR-850 M 12+ Kit Miv. M12x100 150 250 15,7 12,1 157117
TSR-1200 M12+ Kit Niv. M12x100 250 420 12,6 11.1 157118

WIBROSZCZEL w.i. ul. Ostrowska 54, 18-300 Zambréw; NIP: 723-130-26-09, REGON: 200350573, tel: 664-219-805,
tel/ fax: 86-271-0801; Biuro Marki k. W-wy- tel: 22-771-4687, e-mail: wibroszczel@o02.pl; wibroszczel@wibroszczel.pl




